
 امسالمحور الخ تمارين وحلول
 

  
 

 

101 

      

 



 امسالمحور الخ تمارين وحلول
 

  
 

 

102 

𝜇3 =
∑𝑋𝑖𝑖

3

n

73+33+23+03

4
=  

343+27+8

4
= 94.5

𝑋̅ =
∑𝑋𝑖

𝑛𝑖
=

7 + 3 + 2 + 0

4
= 3 

𝜇3 =
∑𝑛𝑖(𝑋𝑖 −  𝑋)̅̅ ̅̅ 3

∑𝑛𝑖
=  

(7 − 3)3 + (3 − 7)3 + (2 − 7)3 + (0 − 7)3

4
= 9 

 

𝐗𝒙̅𝒙̅

𝜇1 =
∑𝑛𝑖(𝑥𝑖− 𝑥)̅̅ ̅̅

∑𝑛𝑖
=

0

4
= 0 

𝜇2 =
∑𝑛𝑖(𝑥𝑖− 𝑥)̅̅ ̅̅ 2

∑𝑛𝑖
=

60

4
= 18 

𝑿̅𝑿)̅̅̅̅𝑿̅𝐱𝐗
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𝑋̅ =
∑𝑛𝑖𝑋𝑖

∑𝑛𝑖
=

40

20
= 2 

 

𝜇1 =
∑𝑛𝑖(𝑋𝑖− 𝑋)̅̅ ̅̅

∑𝑛𝑖
=

0

20
= 0 

𝜇2 =
∑𝑛𝑖(𝑋𝑖− 𝑋)̅̅ ̅̅ 2

∑𝑛𝑖
=

14

20
= 0.7 

𝜎𝑥 =  √0.7 = 0.83 

𝜇3 =
∑𝑛𝑖(𝑋𝑖− 𝑋)̅̅ ̅̅ 3

∑𝑛𝑖
=

6

20
= 0.3 

𝜇4 =
∑𝑛𝑖(𝑋𝑖−𝑋)̅̅̅̅ 4

∑𝑛𝑖
=

26

20
= 1.3 

γ1 =
𝜇3

𝜎3
=

0.3

(0.83 )3
=  ومنه   معامل  فيشر  للالتواء 0.52

 

β2 =
𝜇4

 (𝜇𝑥)
=

1.3

(0.7 )2
= 2.653 

 

 


